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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6_0, Day=54 (2025-05-22)
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P3-6

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

06:50 278 150. 0 E 1BRi&e06:50 Bah (RAERE)
07:15 278 150.0 (& =| 1Bige07:15 Bzh (REEREE)
08:50 278 150.0 E  1BRi&@08:50 Bzl (RFAEREEE)
09:40 278 150.0 5| {Ri%@09:40 B3 (KRAMERSE)
10:25 278 150.0 El BRi&010:25 Bz CGRAEREE)
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11:50 278 150.0 El BRige11:50 Bz (GRAERESE)
12:35 278 150. 0 E| {Rige12:35 Bzh (RE{ERSE)
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14:45 278 150.0 |Z=| 1BRige14:45 Bzh (REERESE)
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24t 3336.0 (12)%) 1800. 0 3ZHKEC: 2080.0, PH: 5.9

FEREIEC (2410.0) HigZFEEC (2000.0) REK KX, HHRE

#[EKECE (2410.0 vs 4963.0) 15




FRV (ml plant-1)
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P3-6_0, Day=52 (2025-05-20)
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P3-6

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

07:00 278 150.0 FA| 1E2i%@07:00 B3h (kAIEREE)
07:25 278 150.0 FA| 1Bi&@07:25 B3 (KRAEREE)
08:40 278 150.0 (% =| {Ri%@08:40 Bz (KRHEERESE)
09:35 278 150.0 [ =| {Ri%e09:35 Bz (REAERESE)
10:20 278 150.0 & =| 1Ri%@10:20 Bz (kAEREEE)
11:05 278 150.0 El BRi&e11:05 Bz GRAEREE)
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13:35 278 150.0 | 1Ri%e13:35 B (RAAERER)
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2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.9
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P3-6

BjiE) | GEBEETIC (7)) | EME (BH/HK) | XK R

07:00 278 150. 0 B 1Ri&e07:00 Bzl (RAEREE)
07:25 278 150.0 = {RRiB007:25 Bzh (REAKEE)
09:15 278 150.0 (Z=| 1BRi&e09:15 Bzh (REERESE)
10:40 278 150.0 & =| 1Ri%@10:40 Bz (kAEREEE)
11:50 278 150.0 S| {Ri%011:50 B3 (REERKSE)
13:00 278 150.0 |Z=| 1BRiZe13:00 Bzh (REERESE)
14:10 278 150.0 |Z=| {Rige14:10 Bzh (GREfEREEE)
15:10 278 150.0 (& =| 1BRige15:10 Bzh (REERESE)
H2it| 2224.0 (8%%) 1200. 0 EWHKEC: 2080.0, PH: 5.9

BEXEBIEC (2660.0) H5iZEEC (2000.0) REK KA, FHRE

[B&REC 5277.0 K5, ZEINF{KECAE&HRER

#[EKECE (2660.0 vs 5277.0) 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=50 (2025-05-18)
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